R4

FEI7REBAXREEY 7 FAR—ILKE

KT FER

BFOREE (F—LEHE) BHEAEGH 1 F—LB A LEKRUE
% ERTT AIREIE ] . | o
#| 4 B2 5|5 g g ; B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
2 AR &R Y| 7| % X |&BR| § % E 2 x| # & | = |5
| =3# & 1 3 190 16 5 8 8 0 0 1 2 2 0 70(18.67| 0| 1[0.000] 1
2|FF R¥ 20 2 100 10 4 1 1 0 0 o 0 0 0 33| 3.50] 0| 0]0.000 1
F—LDEE 5 290 260 9 9 9f 0 0 1 2 2 0 103[{12.60] 0| 1]0.000f 1




R4

FEI7REBAXREEY 7 FAR—ILKE

KT FER

BFOREHE  (F-LEHEE) BEHAAH: 2 F—LA: KRKREY ST
. BHER AR S . | o
|y B 5|5 |% % ; B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
g AR Ay 7 % xR 58 E 2 & &l x|&
1\ &H Al 18 9 36 321 5 4 4 O 3 200 0 0 132 3.1 1 11 0.500] 2
F—LDEE 9 36 321 5 4 4 O 3 11 200 0 0 132| 3.11 1 11 0.500] 2




R4

FEI7REBAXREEY 7 FAR—ILKE

KT FER

BEORE  (FL2HE) BREHAM: | F—L%: KEES-X
% ERTT AIREIE ] . | o
#| 4 B2 5|5 g g ; B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
2 AR Ry 7w KR F B oy ke g =B
1| &=H £ 1 3/ 2/3 17 13 4 2 0 2 0 0 0 57( 0.00] 0| 1[0.000 1
F—LDEE 3/2/3 17) 13 4 20 0] 2 0 3 0 0 57| 0.00] 0 1[/0.000[ 1




R EI7REAFREFY T FR—ILKE KERFFESR

BFOREHE  (F-LEHEE) ZEHAH: 5 F—LL K R
- BT AREE ) . o
|y B | PR 5 5 g g , B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
5 AR &Y 2 % % |k g % B 2% &% % &|l® &
1| EE R 25 217 124 109 331 13 8 3 1 9 2| 100 2 0 0 O 429] 2.07) 4, 1{0.800] 5
F—LDEE 27 124/ 109 33| 13 8| 3 1 9 21 100 20 0 0 O 429| 2.07) 4| 1]0.800 5




R4

FEI7REBAXREEY 7 FAR—ILKE

KT FER

BFOREE (F—LEHE) BEAAH 1 F—LB  A—LTTE—X
% ERTT AIREIE ] . | o
#| 4 B2 5|5 g : , B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
2 AR &R Y| 7| % X |&BR| § % E 2 x| # & | = |5
1|8 K&t 100 0 4 1 1 3 0 3 0 0 O 0 22 oo 0| 0]0.000 1
2| /B BIA 18] 4 21 15 4 4 0 4 1 2l 0 0 65| 7.00f 0| 1]0.000] 1
F—LDEE 4 250 16] 5 7 0 7 2 0 0 87(12.25 0| 1[0.000f 1




R EI7REAFREFY T FR—ILKE KERFFESR

BFOREHE  (F-LEHEE) BHRASH: 2 F—LA FHFELF—ILRE-—X
- BT AREE ) . o
|y B | PR 5 5 g g , B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
H AR &Y 2 % % |k g % B 2% &% % &|l® &
| RE F# 11 10 39 36 7 1 0 1 11 16 0 0 0] 135 2.80] 1 11 0.500] 2
F—LDEE 10 39 36 7 4 4 1 0 1 11 16 0 0 0 0 135 2.80] 1 11 0.500] 2




R4

FEI7REBAXREEY 7 FAR—ILKE

KT FER

BFOREHE  (F-LEHEE) BEAAH 1 F—L% REBARB HF
. BHER AR S . | o
|y B 5|5 |% % ; B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
= AR Ay 7 % xR 58 E 2 & &l x|&
R=E: 3t 18] 5 280 19] 3 8 4 1 00 8 0] 6 O 0] 115 5.60{ 0| 1]0.000 1
F—LDEE 5 280 19] 3 8 4 1 00 8 0] 6 O 0 115/ 5.60[ 0| 1{0.000] 1




R4

FEI7REBAXREEY 7 FAR—ILKE

KT FER

BFOREE (F—LEHE) BHEEGH 1 FLBR A—LRE-X
% ERTT AIREIE ] . | o
#| 4 B2 5|5 g g ; B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
£ AR Ry 7w KR F B oy ke g =B
1|2/ #X 18] 4 24200 7| 8 4 1 2 4 1 0 82( 7.00 0| 1[0.000 1
F—LDEE 4 24 200 7| 8 4 1 2 4 1 0 82| 7.00 0 1/0.000[ 1




X&%: EF370LEARLEEY 7 FAR—ILKE

KT FER

’FEOEHE (F-LEHA) ERHEEH . 4 F—LKH:ALL EAST
. BB " x| 47 . . |
# g [ 5| 5| % o , =
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
H TR R Y2 R B R R s s & (&
1| EH{ #HE 10 11 511 47) 16 6 0 0 4 0 1 0 o 172| 3.82] 2 11 0.667[ 4
2| B E 151 11 41 38 5 1 1 2 100 0 O 0of 162] 0.00 0] 1.000] 4
F—LDOEET 22 92/ 85 21 7 1 0 6 100 1 0 0 334 1.91 3 11 0.750[ 4




R4

FEI7REBAXREEY 7 FAR—ILKE

KB AT F

M- A
ER

BFOREHE  (F-LEHEE) BEAAH 1 F—L% JL—brR—aX
. BHER AR S . | o
|y B 5|5 |% % ; B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
g AR Ay 7 % xR 58 E 2 & &l x|&
L 20 L R e 30 4 27 18 8 M 9 1 0 8 0 O O 0] 103{15.75{ 0| 1]0.000 1
F—LDEE 4 27 18 § 1 9 1 00 8 0 O O 0 103|15.75 0 1{0.000] 1




X&4: FEI37RELAXREEY 7 bAR—ILKE KERFFESR
BEFORE (F—L2EA) ERGAEH 1 F—L%&%:C P S
" BB S N . o |
5 i R Y| 7 %) KK )y B 2| &% || & K| | K
11 NE £A 18 6 270 26/ 9 5 3 0 0 1 0 0 90| 3.50 0 11 0.000] 1
F—LDOEE 6 270 26/ 9 5 3 0 0 1 0 0 90| 3.50 0 11 0.000] 1




R4

FEI7REBAXREEY 7 FAR—ILKE

KT FER

BFOREHE  (F-LEHEE) BEAGH: 2 FLB KRISTHE
. BHER AR S . | o
|y B 5|5 |% % ; B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
= AR Ay 7 % xR 58 E 2 & &l x|&
T XA 53 17 13 55| 50| 15 5 0 2 100 1 0 O 164 2.69] 1 11 0.500] 2
F—LDEE 13 55/ 60| 15 5 5| O 2 1 100 1 0 0 164] 2.69] 1 11 0.500] 2




R EI7REAFREFY T FR—ILKE KERFFESR

BFOREE (F—LEHE) BiRAEH 1 F—LBH:TF — L 1
" BT AIMEE: ’ . | o
AP 5| 5 |% : , A
No. K4 gpmew 40 2% 502 8 %= %% E 2 b B0 w52
£ AR R| Y| 2 & X |&B 5 & B 2 x| # & | = |5
1 HaR B% 17 2 8 6 1 1 1 0 0 2 1 0 0 0 33[ 3.50 0f 0.000] 1
25— ] 18] 3 19 17, 8 7 2 1 0 1 o 2 1 1 0 0 64| 4.67 11 0.000] 1
F—LDEE 5 271 23] 9 8 3 1 00 3 0of 3 1| 1 0 0 97( 4.20 0| 1[0.000f 1




RKe%: FEI7ELBRUEY I bR—ILKE KBRFFPESR

BRFORR  (FoLEHA) BRHAM 4 F—L% KRR U—Y ORHRE
7 BRI AR ) . | o
|y B2 5|5 |% " ' =
No. K4 g (sxEn 1§ 2% 8|02 B - F 2 25 B|D w02
= AR &2 |2 % % & §/ % B 2 = |8 u| %%
e = 10 0/2/3 2 2 0 o 0 0 0 0 o 0 ©O 0 4] 0.00f 0| 0]0.000 1
2| EA Rt 24 20/1/3 80, 70, 121 5 5 3 0 6 31 1) 4 0 298 1.72| 4| 0]1.000 4
F—LDEE 21 82 720 12 5 5/ 3 0 6 31 1) 4 0 302 1.67) 4| 0[1.000 4




K% EI7EEAXUFY T FR—ILKE KBRFFES

BFOREE (F—LEHE) BHEEH 1 F—L% REUHFI ST
" BT AIMEE: ’ . | o
AP 5| 5 |% : , A
No. K4 gpmew 40 2% 502 8 %= %% E 2 b B0 w52
= AR R| Y| 2 & X |&B 5 & B 2 £ (8 & &
1| #FE Hth 150 1 13 6 5 9 9 0 2/ 5 o 1 0 0 51(63.00] 0| 1[0.000 1
2| BAX ME LA 14 10 3 1 1 0 4 1 0 0 0 56| 2.33] 0| 0f0.000[ 1
F—LDEE 4 27 16| 8 10/ 10/ O 9 11 1 0 0 107{17.50] 0| 1]/0.000f 1




R EI7REAFREFY T FR—ILKE KERFFESR

BEORE  (FL2HA) BREMEH 4 F-LE:TIVAO0S
,b BHER AR ) . 1o
|y B 5|5 |% % : B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
= T s Y 7R BIR %R 2| B R M B K
1| fEREE—ER 17 17 73| 64 15[ 9 4 3 O 6 Of 10 1 1 0 O 280| 1.65 3| 1{0.750] 4
F—LDEE 17 73 64 15 9| 4 3 O 6 Of 100 1 1 O O 280 1.65| 3 1[0.750] 4




R4

FEI7REBAXREEY 7 FAR—ILKE

KT FER

BFOREE (F—LEHE) BEAAH 1 F—L%  F—VKIEEREF
% ERTT AIREIE ] . | o
#| 4 B2 5|5 g g ; B
No. R4 lewmm| ¥ 2% &[0 2 @ % 8L 2 K| 8|5 s 5|E
£ AR Ry 7w KR F B oy ke g =B
1| XBE FF 18] 5 271 23] 8 5 5 0 2, 2 1 0 97( 7.00 0| 1[0.000 1
F—LDEE 5 271 23] 8 5 5 0 2| 2 1 0 97| 7.00 0 1[/0.000[ 1




R4

FEI7REBAXREEY 7 FAR—ILKE

BFEDOEHE (F-LEHRASE)

KIRAFFES
ERAEY : 2

F—L&: LTV KS C

- BT AREE ) . o
|y B | PR 5 5 g AT

No. R4 §mwmw| I 7 2|5 8|52 @ |2 5B E 25 |@|f w5
H AR &Y 2 % % |k g % B 2% &% % &|l® &

1| #0E 4 30[ 9 511 42 19| 14 12 1 0 6/ 2| 1 1 0 O 160 9.33) 0 1{0.000 2
F—LDEE 9 511 42 19| 14 12 1 0 6/ 2| 1 1 0 0 160 9.33] 0| 1(0.000] 2




R4

FEI7REBAXREEY 7 FAR—ILKE

KT FER

’FEOEHE (F-LEHA) ZHRAAHK 1 F—L#&:Mavericks
" WRHE ANREIE: ) . | o
| x| B 5| 5|% 5 || B s B (R
No. K4 g pums| ¥ =% 5|02 AR IR b B0 w52
= AR R Y| 7| | % |B| 5 % E N2 £ (8 & &
AKX R 13 5 211 18 2 1| oOf O O 3 0 2 O 0 85( 0.00] 0| 0fO0.000 1
F—LDEE 5 211 18 2 11 O 0 0 3 0 2 0 0 85/ 0.00] O/ 0[0.000[ 1




